
AK7000BS
AK7036BS
AK7042BS
AK7048BS



Tempest I
AK7000BS, AK7036BS, AK7042BS, AK7048BS

Ref # Part # Description Qty.
1 54050078 Collar, 8" Round w/Damper 1

2 11030028 Wires, Electrical 1

4 54200011 Box, Electrical 1

5 54190041 Plate, Single Blower 1

6 12120070 Blower 1

7 56200009 Plate, Control Board 1

8 12050028 Capacitor 2

9 11010064 Control Board 1

10 11000086 Switch Assembly 1

11 50120075 Panel, Rear (AK7000BS) 1

11 50120076 Panel, Rear (AK7036BS) 1

11 50120077 Panel, Rear (AK7042BS) 1

12 50210020 Filter, Baffle (36" & 42" x 3) 2

12 50210021 Filter, Baffle (AK7048BS) 4

13 50500145 Light Socket Assembly 2

14 50110139 Panel, Light (AK7000BS) 1

14 50110140 Panel, Light (AK7036BS) 1

14 50110141 Panel, Light (AK7042BS) 1

14 50110261 Panel, Light (AK7048BS) 1

15 Z0B0023 Bulb, Halogen, GU-10, 35W 2

16 11030079 Blower Extension Cable 1

17 05000097 Hardware Packet 1

17-1 01650001 Screw, 3/16 x 3/8 4

17-2 01060004 Screw, M3 x 8mm 4

17-3 01090003 Screw, M6 x 2" 4

17-4 01090001 Screw, M6 x 1" 4

17-5 01090002 Screw, M6 x 1 1/2" 4

17-6 02170001 Washer 4

17-7 15000002 Wire Cap 3

17-8 15000004 Suction Cup 1
JUN19.0201


	AK7000BS
	xAK7000BS

